Racines Cubiques (B)

32 744

4096

1331

/8 000

2197

512

729

125

32 768

35832

Trouvez la racine cubique de chaque nombre suivant.

_ ¥3 _

= J13824 =

= 24389 =

= 1728 =

= 32768 =

- 2167 -

= 29791 =

= J10648 =

- B -

_ 364 _

35832

<729

12 167

31000

327 000

J125

319 683

38 000
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Racines Cubiques (B) Solutions

Trouvez la racine cubique de chaque nombre suivant.

/2 744 =

45096 =

1331 =

/8 000 =

2197 =

B -

7o -

125 =

32768 =

35832 =

14 J8 =2

16 J13824 =24
11 24389 =29
20 J1 728 =12
13 Y32768 =32
8 J12167 =23
9 J29791 =31
5 J10648 =22
32 3343 =17

18 J64 =4

/5832 =18
/729 =9

1728 =12
I8 =2

J12167 =23
31 000 =10
27000 =30
J125 =5

J19683 =27
/8 000 =20

MathsLibres.com




